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WORK SHEET No. 3

Competency: Ability to Compute

1. Solve the Word problems:

Date
Month

. Mrs. Honey pot uses 6 glasses of water to make
one jug of juice. How much water will she use to make
three jugs of juice?

. The label on the bottle suggests that | use one part orange squash to

five parts water. If | put seven cups of
orange squash into a jug, how much water should I add?

. A bottle holds 2 liters of water. David opens
a new bottle and drinks half. How much water is left
in the bottle?

A carton of orange juice holds 2 liters. How many
500ml glasses can | pour from it?
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